Soustraction Avec Des Zéros (1)

10 000
-8 596

10 000
-7 153

10 000
-9946

10000
-3 219

10 000
-7974

10000
- 8455

10 000
- 6869

Calculez la différence.

10 000 10 000

- 495 -7 001
10 000 10 000
- 5655 - 3128
10 000 10 000
-8737 -9 849
10 000 10000
-1052 - 3108
10 000 10 000
- 5877 -4 209
10 000 10000
-3 024 -6 099
10 000 10 000
-4 660 -5914

10 000
-9 561

10 000
-4 050

10 000
- 4937

10 000
-4740

10 000
-6 153

10 000
-3181

10 000
-3522
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Soustraction Avec Des Zeéros (I) Réponses

10 000
-8 596

1404

10 000
-7 153

2 847

10 000
-9946

54

10 000
-3 219

6 781

10 000
-7974

2026

10 000
- 8455

1545

10 000
- 6869

3131

Calculez la différence.

10 000
-9 561

439

10 000
-4 050

5950

10 000
- 4937

5063

10 000
-4740

5260

10 000
-6 153

3 847

10 000
- 3181

10 000 10 000
- 495 -7 001
9505 2999

10 000 10 000

- 5655 - 3128
4 345 6 872

10 000 10 000

-8737 -9 849
1263 151

10 000 10 000

-1052 - 3108
8948 6 892

10 000 10 000

- 5877 -4 209
4123 5791

10 000 10 000

-3 024 -6 099
6976 3901

10 000 10 000

-4 660 -5914
5340 4 086

6 819

10 000
-3522

6478
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